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Note : Attempt any five questions. All questions carry equal
marks. '
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1. (a) Foreachofthefollowing statementsindicate 5
whether it is true or false :-

(i) IgM is the major class of antibody
produced in a secondary immune
response.

(i) The concentration of both SGOT and
CK increases rapidly after a heart
attack and then falls.

(iify Okazaki fragments are synthesised
during transcription of mRNA.

(iv) Starch is a structural polysaccharide.

(v) ATP has a higher phosphate group
transfer potential than PEP.
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(i) Name the coenzyme involved in the
transfer of acyl group by enzymatic
reaction.

(i) Whatare essential amino acids ? Give
two examples.

(i) Name the various noncovalent
interactions that contribute to the
stability of protein structure.

(i) Name the major lipid components of
all the biological membranes. Write
the structure of any one of these.

(i) Write any two important functions of
biomembranes. |

Schematically represent the structure of
transfer RNA (tRNA). Describe the salient
features and the role of tRNA in protein
biosynthesis.

Define mutarotation. Which of the
following sugars/sugar derivatives will
exhibit mutarotation and which will not ?

(i)  methyl-B-D-glucoside.
(i) glucose.

(iii) mannitol

(iv) sucrose.

What are the characteristics of the genetic
code ? Describe in brief.



4. (a) Describe the basic structure of an antibody 6
and name the five major classes of
antibodies. Explain how antibodies
function as precipitins and agglutinins.

(b) What is the role of the following enzyme/ 4
protein in DNA replication ?
() DNA - ligase.
(i) SS DNA binding (SSB) proteins.
(i) 3 — 5 exo-nuclease activity of DNA
- polymerase 1.
(iv) DNA helicases.

5. (a) Explain how enzymes lower the activation 5
energy of a reaction.

(b) Name the deficiency disease associated with 1
niacin and vitamin B,.

(c) Write the physiological role of any one of 2
the following trace elements.
(i) phosphorus.
(i) molybdenum.

(d) Write the functions of golgi bodies. 2

6. (a) Write short notes on any one of the 5
following :

(i) Regulation of the TCA cycle.
(ii) B- oxidation of fatty acids.
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7. (a)

(b)

(©)
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Give a flow chart for the conversion of
alanin to 3 - phosphoglycerate indicating the
enzymes and coenzymes involved.

Compare cyclic and non-cyclic
photophosphorylation.

What are the other molecules or pigments
present in photosystem I and photosystem
11 besides chlorophyll ?

What is fermentation ? How is vinegar
produced by fermentation ?
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